
www.pieces-de-poele.com



N° schema Intitulé Référence

5 BAC A CENDRES 2180CBC-S 70.05228.000 

10 10 p TUBE Ø13XØ10X7.5 70.13623.041 

15 10 p D1472 Ø6x24 GOUPILLE 70.20406.000 

19 10 p SPANSCREW DIN 7343 Ø6X30 70.17806.000 

26 10 p VIS DIN 916 M6X6 70.21701.041 

30 10 p BOULON DIN 933 M6x30 70.19307.000 

31 10 p BOULON DIN 933 M8X40 70.19316.000 

32 10 p BOULON DIN 933 M8x75 70.19318.000 

38 10 p CLAVETTE DIN 94 Ø2.5x25 70.19610.000 

41 10 p M6 ECROU CLEVELOCK 70.20001.000 

44 26330.0 VITRE CLASSIQUE 2180 CBC 70.26330.000 

50 CLAPET 2180CB 70.32024.000 

52 main froide 2180 cb noir 70.34106.021 

54 10 p VIS M6X20 70.16303.041 

56 10 p RIVET 6X12MM 70.17530.000 

64 VOLET DECENDRAGE 2180 CB 70.05405.000 

70 SET PIECE DE FERMETURE 2180/2120/2320/2620/GAMMA 70.64279.000 

71 10 pc RONDELLE A11 STARLOCK - 64611.0 70.64611.000 

72 10 p BAGUES DE FIXATION 70.64606.000 

76 PLAQUE DE SOLE 2180CB 70.66526.000 

84 DEFLECTEUR ARRIERE 2180CB 70.76166.000 

85 COUPE FLAMMES 2180CB 70.76165.000 

86 GARDE-BUCHES LISSE 2180CB 70.77084.000 

www.pieces-de-poele.com


	09-93124-000_2180CBC
	09-93124-000_2180CBC_P2
	Liste_pieces_en_cours2




